Chapter 12 (p.377) #71,72
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 T or compression at all 7 supports?

Let FBC represent the force of the BC-support on point C and start with the forces on C.

In the y-direction: 
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 (FBC = FDC by symmetry)

Now look at the forces at B. 

y-direction: 
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 (A pushes on B, C pulls on B)

x-direction:
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Now look at the forces at A.

x-direction: 
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y-direction: 
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 (Did we have to find the normal force?)

In summary, the outer supports were under compression, the inner two were under tension (pulling inward at the hinges), the top support 
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 was under compression (it pushed outward at the connection points) and the two pieces of the bridge were under compression.
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Torque on 
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(w.r.t. pt A): 
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Next look at pt B in the y-direction (so we won’t have to worry about FDB yet!)
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Now back to 
[image: image15.wmf]AC

 in the y-direction (so we won’t have to worry about FCA yet!)
Torque on 
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(w.r.t. pt C): 
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Now at pt A in the x-direction at pt A: 
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Almost forgot about FDB at pt A, x-direction: 
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In the y-direction at pt E: 
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(Notice we had to use a torque analysis on 
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with the car’s weight.) 
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